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Question 1
Question Type: MultipleChoice

Which process is an external process for a Cloud data center?

Options: 
A- Availability management

B- Capacity management

C- Service continuity management

D- Service level management

Answer: 
D

Question 2
Question Type: MultipleChoice



What is not a staffing benefit of Cloud computing?

Options: 
A- Fewer IT-staff

B- Lower employee benefits

C- Lower recruitment costs

D- Lower self-service costs

Answer: 
D

Question 3
Question Type: MultipleChoice

How might moving to the Cloud have a negative impact on users?



Options: 
A- Development is no longer in house and may take longer to be performed.

B- Software licensing is no longer part of operations.

C- Support and maintenance are no longer in house and may take longer to be performed.

D- Uptimes can be guaranteed but not adjusted in a flexible manner.

Answer: 
A

Question 4
Question Type: MultipleChoice

Why does a VPN offer more mobility to employees?

Options: 
A- It allows employees to work from locations other than their office.



B- It offers more security at home than at the office.

C- It offers a higher network speed at home than at the office.

D- It does not require a network connection.

Answer: 
A

Question 5
Question Type: MultipleChoice

Failover is the capacity to switch, often automatically, to another system or resource in the event of a failure. How does failover assist in

the provision of cloud services?

Options: 
A- It assists providers in ensuring continuity of service when there is a problem.

B- It automatically restarts the system in case of a failure.

C- It builds a back-up while the system is active.



D- It provides hidden storage to be used when needed.

Answer: 
A

Question 6
Question Type: MultipleChoice

A network protocol designed to provide strong authentication for client/server applications by using key cryptography. Which protocol is

described?

Options: 
A- Extensive Messaging and Presence Protocol

B- Kerberos protocol

C- Lightweight Directory Access Protocol

D- Transmission Control Protocol



Answer: 
B

Question 7
Question Type: MultipleChoice

What is a specific advantage of a Community Cloud?

Options: 
A- It is tailored to the needs of a single community.

B- It is more secure than a Private Cloud.

C- It is cheaper than a Public Cloud.

D- It can form a Hybrid Cloud with a Private Cloud.

Answer: 
A



Question 8
Question Type: MultipleChoice

In its 2010 Whitepaper the Cloud Security Alliance (CSA) identifies a number of Top threats to Cloud Computing. What is not identified

by the CSA as a threat?

Options: 
A- abuse and nefarious use of Cloud computing

B- insecure application interfaces

C- lack of good Service level agreements

D- unknown risk profile and account

Answer: 
C

Question 9
Question Type: MultipleChoice



Why is privacy an area of concern in Cloud computing?

Options: 
A- Data cannot be securely stored in a Cloud solution.

B- Data always resides in another country, with different privacy laws.

C- People using Cloud solutions are afraid that their data is not secure in the Cloud.

D- Privacy laws vary from country to country.

Answer: 
D

Question 10
Question Type: MultipleChoice

Why is the Elastic Compute Cloud (EC2) by Amazon a Public Cloud service?



Options: 
A- Amazon allows anyone with a credit card access to the service.

B- Amazon sells books, DVD's and electronic equipment.

C- Amazon monitors the servers 24 hours per day.

D- Amazon is a company with publicly trade-able stocks.

Answer: 
A

Question 11
Question Type: MultipleChoice

What does the total cost of Application Ownership (TCAO) consist of?

Options: 
A- The total annual costs of ownership including hardware support plus some amortization costs



B- The total annual costs of ownership including all platform costs, staffing and other internal costs

C- The total costs of ownership including hardware support plus some amortization costs

D- The total costs of ownership including software, hardware and services

Answer: 
A

Question 12
Question Type: MultipleChoice

Which language can be used for running programs on the client side during web access?

Options: 
A- HTML

B- Java

C- Javascript

D- XML



Answer: 
C
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